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1. Density of atoms in silicon (10)

Consider the diamond structure of a Si crystal, for which the cubic lattice constant

is a = 5.431 A.
a) Compute the distance, in A, between nearest-neighbor Si atoms in the crystal.

(

(b) Compute the distance, in A, between nearest-neighbor Si atoms in the (100),
(110), and (111) planes of the Si crystal.
(

c¢) Compute the density of atoms (atoms/cm?) in the Si crystal.

2. Pokkun i kristalli

(10) Myndin ad nedan synir bétt pokkud plon tveggja teningsgrinda sem hafa sému

fjarleegd milli neestu granna d.
(a) Hverjir eru Miller visar plananna og i hvada grindum finnast pau.

(b) Hver er frumeindapéttleikinn (frumeind/einingarflatarmal) i hvoru plani fyrir

sig.




